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themself be responsible for filling wrong Roll No.
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The art of enamelling was brought by Maharaja Man Singh [ to Jaipur from _

(A) China (B) Lahore

(C) Baluchistan (D) Bengal

UG H AR @ Her AsToen W [ 99 &) il 1
(a) 8= (B) W@

(©) wghowm (D) T

Which pair is wrongly matched ? :
{A) Pabuyji — Kolu . (B) Tejaji — Kharnal

(C) Mallinathji — Gagron ) Gogaji — Dadreva
S W ¥ Tod geed § 7

(A) s - @iy B) R - o
(C) wreFTasT — TR (B)M—m

On which hill is the Meharangarh fort of Jodhpur situated ?

(A) Giri Sumel (B) Bari Tekari
(C) Chidia Toonk (D) Masuria Hill
SEgT B TEE 5 Rew Tl o Rew 7

(&) Tt gow B) =& =
©) Timm (D) e wewt

Which Rajput ruler's Mansab was reduced by Jahangir after he became the emperor ?

(A) Raja Bhagwant Das (B) Raja Man Singh

(C) Raja Jaswant Singh (D) Raja Bharmal
e ¥ SRy w9 & WiE R6Y TN I & was § &9 @ 91 7
(A) =T e T B) < A R

(C) usn wweEa [ie (D) T wEw

9 [ PT.O.
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Which of the following period is related to Ajayraja-il 7

(A) 905 AD (B) 320 BC
(C) 1105 AD (D) 1305 AD
Freffed ® § o W o e © gt ¥ 7

(A) 905 & (B) 3203w @
€) 1105 =y (D) 1305 3=y

Which language is used in the Ghosundi Inscription 7

(A) Prakrit (B) Hindi

{C) Sanskrit () Rajasthani
Orgesy Rremerg W B W e gge o T § 7

(A) wipd (B) &=

© wga (D) rsrer

Which one of the following women was appointed as the Brand Ambassador (2012)
of State Election Department ?7

(A) Bhagyalaxmi (B) Krishna Poonia

(C) Sneha Shekhawat (&) Champa Kanwar

e & ¥ few afewr & v gAE R @ soe gEwst (2012) Srgsw R e 7
(A) wraE (B) um g

(C) @ e (D) == &aX

Rajasthan was placed in which category of State according to the Indian Constitution 7
(A) I category Part A (B) U category Part B

(C) III category Part C () Independent State

TR GUE % SE TR B 9Rd B Rew SO & sy H Tey w7

(A) va% o T A (B) &= o s B

(C) i gt wmr C (D) @ T

3 [ PT.O.




9  In which State was Praja Mandal established in 1934 to conduct political activities in
the State 7
(A) Jodhpur (B) Kota
(C) Mewar (D) Alwar
g ¥ et iafalrdl & dum 5g e Tew ¥ 1934 ¥ ue AvSH W W 8y g ¢
(A) wEge (B) @@
(©) e (D) e
10  The army of Thakur Khushal Singh defeated the army of Jodhpur on 8th September,
1857 at
(A) Aasop (B) Gular
(C) Bithoda (D) Khejarli
8 fudey, 1857 =t W 9T G FYES B W A SHUYT DI TGHE A B
ERUECRCTH
(A) e (B) T
(C) fagre (D) @
i1 Which Maharana of Mewar gave 4 villages as a grant to the Dargah of Ajmer ?
(A) Sangram Singh (B) Jagat Singh II
(C) Fateh Singh (D) Amar Singh 11
Fors & e HEn ¥ SRR IUTE % Mg 9 e oEm W g 7
(A) wwm ®is (B) s s 11
(C) weis Ris (D) e RE I
12 Which of the following is not rightly matched ?
(A) Marwar Festival — Jodhpur (B) Camel Festival — Bikaner
(C) Elephant Festival — Jaipur (D) Brij Festival — Dholpur
frefeiegs § § w9 ST W N 7
(A) ¥ 3@ - Yy (B) &< #EEd — ST
(C) = sE - AR (D) 9 Wi - dWgR
74 (2207) | 4 [BT.O.

13 The festivals in Rajasthan begin with Shravani Teej and end with
{A) Harivali Tegj (B) Chatara Chauth

(C) GSheetla Asthmi (D) Gangaur

O H TG S e JEl O ¥ BRI B ST efm -
(A) sha d (B) = 9y

(C) shaen erew (D) AR

5

14 Bamrasia is a famous folk dance form of which region ?
(A) Marwar (B) Shekhawati

(C) Jalore (D) Alwar-Bharatpur

TR B9 € 89 I TF aeY Gl § 7
(A) AR (B) dEmEr
(C) wER (D) FTRIR-FTTI

15 The dialect spcken in Dungarpur and Banswara area is known as

(A) Mewari (B) Mewati

(C) Wagdi (D) Malwi

SR S gieasT & ¥ SO 9 IR SR e ¢ |
(A) 7 (B)

(C) ar (D) =

74 (2207) ]
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16 Which of the following pairs is not correctly matched 7
(A) Sajjangarh — Udaipur
(B) Ranthambore — Sawaimadhopur
(C) Sariska — Alwar
(D) Ramsagar — Kota
frerffes St ¥ ¥ FF W gt T8 ¥
(A) 9% — ST
(B) TR ~ GaAEigR
(C) sl — I@a
(D) THEW - B
17  On which day World Environment Day is celebrated ?
(A) 5% May B) 5% June
(Cy 227 March (D) 220d Aprit
e uterw fegg S 7O 90§ 7
() 578 B) 5
(©) 22+ (D) 22 a’w@
18 In which year was 'Drought Prone Area Programme' launched ?
T T & HRime feE I A W gen ¢
(A) 1974-75 (B) 1977-78
(C) 1584-85 (D) 1988-89
19  Agriculture practice adopted by Tribes in South-Eastern hilly areas of Rajasthan is
called :
(A) Balara (B) Kumari
(C) Kheel (D) Dippa
TR % ot uEEy &5 ¥ enianiaal gy SuEnt A o 9 A ey @ At @
wed ¢
(A) W& (B) g
(€) @ (D) femm
T4 2201) | 6 [ BT.O.
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In which vear, Nineteenth Livestock Census was conducted in Rajasthan 7
i

o

T H SEel gy he oad ¥ 8 g 7

(A) 2011 (B) 2012
(C) 2013 (D) 2014

'Gangnahar was constructed by Maharaja Ganga Singh in the year —

ey (g wergs iy W euar ), By oy geeRh ey oo ¢
(Ay 1932 (B) 1927
(C) 1930 (DY 1937

‘Chand Bawari' is located at —

{A) Dausa (B) Jaipur

(C) Sawaimadhopur (D) Udaipur
Fie TEE eERYT ¥ -

(A) e (B) wIR

(C) wamEwTEgT (D) SEage

Mandav Ki Pal' is known for the preduction of —
{A) Dolomite (B) Beraite
(C) Fluorite (D) Grafite
aieg ® e pus IuRT & e em ¥ 7

(A) sterETEE (B) s
(€) wrEe (D) IwEe

Which of the following district of Rajasthan is not having the facility of Train
Transportation 7

{A) Sirohi (B) Rajsamand
(C) Banswara (D) Hanumangarh
FretioRen § € vore & fow Be F e S g @ ¥ 7
(A) R (B) TEEER

(C) wraTst (D) =garTE

~3
.
™
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25 What is the North to South length of Rajasthan State in kilometer ?
TR U0 &0 39 § sfiw Wy fopa feaniiex & 7
(A) 826 By 869
(C) 8% (D) 862
26 Match the following —
List-1 List-I1
(1) North-East Aravali region (a) Udaipur
{2) Middle part of Aravali (b)) Jaipur
(3) Bhorat Region {(c) Alwar
{4) Southern Aravali (d) Sirchi
Fretiviad @ gafaa sy —
-1 TR-11
(1) sa-g@l sroea & (a) v
(2) oTUER W AEHEA! AW (b) wER
(3) 9e &= OBEGER
(4) <Rt sl (6) faod
Codes / 3¢
» @ 6 @
@ © @ G @
@ @ & © @@
© @ & @ @
O ® @ @ ©
27 'Chhappan Plain' is associated with which one of the following rivers 7
(A) Parvati (B) Mahi
(C) Kothari (D) Khari
BT TEF w1 ey Frataied ¥ @ e A &7
(A) =R B) =@
(©) = D) T
74 (2207) ] g { BT.O.
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Koppen's 'AW' Region is found in which of the following places in Rajasthan 7
(A) Nagaur (B} Jodhpur
(C) Udaipur

e ¥ B T aRfe AW Ry e Y @ mel ymr e B 7

() Dungarpur

(A) T (B) wug
(C) Syt D) T

Which of the following mineral is useful for the solution of salinity and alkalinity in
soils 7

(A) Sodium (B) Gypsum

(C) Tungsten () Magnesium

= ¥ ¥ R e geet o weeloer o ardeer & g g Suged § 7

(A) qifsa (B) =

(C) Zmws (D) F=hfimm

Match the following and select the correct answer using the codes given below :

Forest Produce Tree
(i) Timber (a) Khair
(i1) Charcoal (b) Kikar
(iii) Kattha {¢) Tendu
(iv) Bidi (d) Sheesham
Prefafen of gafvg SN oo 99 Y T g & T8 ST 9 39 & 999 B
TS I8
() el wwe (8) T
(i) sew (b) BT
(i) wmer (c) g
(iv) €Y (d) M

Codes / % :

® @@ G )
A @ & (© @
B @ © & @&
© ©© & @ @
o)y @ G @ ©




31 The permitted values of energies for an electron in one dimensional bex is given by—
e el o & Rua sowem o o9 % OWET W ¥ —
(A) E,= ﬁi’i (B) E,= fi’%
2 ma” & ma
©) E,-= [n +3-) By ©) E,=2
2 ma
32 Photons of energy 5.5 ¢V fall on the surface of the ;ﬁetai emitting photo electron of
maximum kinetic energy 4.0 eV. The stopping voltage required for these electrons is—
5.5 eV et aTw Brew AE 91 I 9T oRE w9 §, e 4.0 oV aitmaw i et
I B! SOARIT S B € | 59 Seies % Ty Pl R @ wm v -
(A 55V B) 40V
C) 15V D) 95V
33 If the momentum of a particle is doubled, then its de-broglie wavelength will —
(A) remain unchanged. (B) become four times.
(C) become two times. (D) become half.
ofe fedl w1 & w9 & e X R 9, o SEe St Sr alies —
(A) g @A T (B) =X T B W
(C) & sl o % (D) el & WY
34 Paralysis time in Geiger Muller Counter is reduced by self quenching method which
uses following quenching agent —
(A) Ethyl alcchol (B) Argon
(C) Oxygen (D) Carbon dioxide
MR @ T & GRS G99 B B9 BT & (We oty R & swd e W ¥
FrE g RS ©
(A) FUEw TR (B) arf
(C) e (D) ®E eEeEs
74 (207) ] 10 [ BT.O.
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The half life of 215At is 100 ps. The time taken for this radioactive sampie to decay

3&

to —  of its initial value is —
i

o : 1

DAt o g oy FW 100 ps ¥ | 3w M-uley v @ o urdhee W & ~;~g HIT
i

TH &9 B N wWY O -
(A) 400 ps
(C) 40 ps

(B) 6.3 us
(D) 300 us

Quadrup@ié moment of nucleus having spherical symmetric charge distribution is —
TR gahE SRy R a| W & agye ey R & —

(A) O By 1

C) -1 (D) oo

For sky wave propagation of 10 MHz signal, what should be the minimum €lectron
density in ionosphere ?

Iy

10 MHz % o=@ & =W 901 9900 & (WU eewesa o god gaee B9 [ o
=iy 7

(A) ~12x1012 m™

B) ~ 106 m‘g

C) ~ 1014 m—3 0y o~ 1922 m"3

For an FET, the relation between amplification factor (1), drain resistance (r;) and
rans-conductance (g,,) is given by -

o

ol FET & fog wads oie (p), swarfes ok () 9 sauawsdl (g,,) & 79
qEY ¥ —

*d
(A) p=— B) u=rygy
b
g 2
(C) pu==% D) L=77 2y
Fd
11 [ P.T.O.
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Two circular discs have masses in the ratio 1:2 and diameter in the ratio
2 : 1. The ratio of their moment of inertia is —

& g Soidl B G 12 % AT H S UE e W 20 1 % oTuw § ¥ s
ST HET B ST ©

(A) 1:2 B)
(Cy 4:1 (D)

[e T
[

Meson theory of nuclear force was proposed by —

(A} Raman (B) Fermi
(C) Bhabha (D) Yukawa
T T % AEE Reer o sReRe fer -
(A) Tm (B) wf S
(C) wrr = ) gwmEr A

Bulk Modulus of elasticity (K) is defined as —

_ Tangential stress _ Normal stress

A) K -
Shear strain

B)

" Volume strain

Longitudinal stress
Shear strain

_ Longitudinal stress

= Y : D) K=
Longitudinal strain

©

SIS yearear orie (K) @t afeaie Rean st §

(A) K= WSIEH . (B) K= W@ilﬂﬂil\%ﬂ%ﬁéﬁ
e [ CIEREREETR
_ ored i e i
(C) K= Wag%&é (D) A= —

Which of the following is not a Maxwell's relation ?

Prer & & i e T T §7
@ (57) (%), ® (5,13,
© (%}T =(§;&}V ©®) (g)g - (%g’jy

12 { PT.O.
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If 2 liquid does not wet glass, its angle of contact is —

(A) zero {(B) acute angle
(C) obtuse angle {(I3) right angle
afE WE 7T B B AR VOET, O OB GEEH B ¥
A) = B) = @
(C) 88 &iw (D) &9 &

The efficiency of a Carnot engine is 50% and temperature of sink is 500 K.
If temperature of source is kept constant and its efficiency is rased to 60%, then the
required temperature of the sink will be —

TRy S S W Al 50% ¥ el RNe @ awam 500 K ¥ aR @ e e fae e
BU TEe A 60% 9% §ol & WY, A Riw @ oEE WO ERT

(A) 100 K (B) 400 K
(C) 500 K (D) 600 K

The equation of motion of 2 wave is

y=0.02 sin[@. 1x+341 +-§~) , then :

(A) Its amplitude is 0.02 and velocity is 34 m/s.

(B) It is moving +ve x direction with velocity 340 my/s.
(C) 1t is moving in —ve x-direction with velocity 340 m/s.
(D) Its amplitude is /3.

gie ot & g i @ el ¥

y:e.QZSin(9.1x+34z+.§ij, >

(A) zoer e 0.02 8T 3gaT o 34 9 ¥
(B) 7% g x-fEam @ oI & w1 ¥ ofv sue 3w 340 W ¥
(C) ue =onEs x-faen & T o7 T ¥ ol sue & 340 MR ¥

(D) 9% S /3 §

13 { PT.O.




46 Clausius - Mosotti relation is given by :
(where symbols have their usual meanings)
FATg-—ARe g9y & S § -
(el d%al & g oY )
Noo €, +1 Ney €.-2
A 3¢, 76 2 B =557 g, +1
Noo €, +2 Now & -1
© 3eq B €, -1 @) 3gg g, 42
47 Poisson's equation for eleciric fields is given by :
g o= & fug wlmew & weem o e e o
p
(A vy =g B) VI =-—
&
© Vw=ckE D) YW =pe,
(where symbols have their usual meanings)
(sel ol & wmrr o ¥)
48 A battery of 16 V and internal resistance 2 Q is connected to an external resistance
'R'. The value of the current for which power in circuit is maximum, is
(A) & Amperes (B) 2 Amperes
(C) 4 Amperes (D) 16 Amperes
16 V gveen €@ 2 Q e TRy I U6 S8 U e uie R'¥ SR 5 ¥
@1 a8 9, fras e oftey ¥ o & @9 aftieaw g, §
(A) 8 ThmER (B) 2 wimT
(©) 4 dhaue (D) 16 whagx
49 Which of the following is referred to as the brain of computer 7
(A) Processor (B) Memory
(C) Keyboard (D) Motherboard
T § ¥ T SRR W A GEen € 7
(A) wRET B) =l
() s (Goime) (D) weEE
74 (2207) ] 14 i PT.G.

50 ROM stands for —

51

52

53

(A) Read only memory (B) Random only memory

{C) Read only management (D} None of above

ROM Frer & @ gofer & —

(A O o=l A (B) T=w ol A
(©) T ot FeE= (D) vogw # ¥ =y W

Which of the following is not an operating system 7
= ¥ aEw g e R w g 7
(A) DOS (B) MAC

(C) C++ (D) LINUX

In which type of material, the magnetic susceptibility does not depend on temperature 7
(A) diamagnetic (B) paramagnetic
(C) ferromagnetic (D) ferrite

ey v & v ¥ gedw wgiy aw o el o e ¢
(A) i (B) sgg=wm

(C) Tegeem (D) HEe

The magnetic moment of an electron moving with a speed V' in a circular orbit of
radius ¥ is equal to —

VoI E Y B % IO B Y YR §U o o e SR g ¥

(&) 16 (B) evr
evr : evr
Y R S( SRS

15 [ PT.O.




S4 Which part of the electromagnetic spectrum is used in radar system for air crafi
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navigation 7
(B} Infrared waves

(C) Ultraviolet waves (D} Xerays

gy geely Wed &1 BN ° 99 ©) F IguW dueE & aresE & e suah e
S § 7

(A) wrEmE

(C) R aE

(A} Microwaves

(B) erted a¢
D) qu‘

Number of cardinal points of a lens system is —
ot e P % wuw Rrge @ e B §
(A 3 (B) 4
© 5 D) 6

A metallic wire of resistance 12 Q is bent to form a square. The resistance between

the two diagonal points will be :

12 Q WioRre &1 U °1g & 9% % O & BY ¥ Hiel Wil &) 9ue e & el R %
e iy & 9 8

(A) 120

B) 240
© sQ D) 30

When 2 high energy ultraviolet (UV) photon beam enters an electric field, it will be—
(A} accelerated {B) retarded

(C) deflected {D) undeflected

WS e el Al Tas (UV) wiRE Yw e foge 8w ¥ ey e ¥, 9w -

(A) w@Rg = | (B) ol B
(C) TEaifm gy (D) fagfe =& e
16 [ PT.O.
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60

Focal length of obiective and eyepiece of telescope are 200 cm and 4 om respectively.
The length of telescope tube for normal adjustment is

(A) 196 cm (By 204 cm

{C) 2506 cm (D) 225 em

el Easl ¥ arfvesue o= 9 A W @ Biey g0 s 200 e 9 4 w9 § e
e ¥ fore qeestt # afee & wd

(A) 196 a9 (B) 204 g3

(Cy 250 &= (D) 225 I

The defect of lens due to which paraxial rays and marginal rays of monochromatic
light do not focus at a single point and point image is not formed for a point object
on axis, is known as
(A) spherical aberration (B) chromatic aberration

(C) coma (D) astigmatism

N B 9% S fEs RO gwenity el o sariy g g e we fag ot s Tl
T ol ot X Rge o W Rgag viofew s =@ o &, weam ¢

(A) e fogee (B) = fwes
(C) & (D) afsgaa

In Newton's ring experiment, the diameter of the 10™ ring changes from 1.50 cm to
1.20 cm when a liquid is introduced between the lens and plate. The refractive index
of liquid is :

=T awE % gA A, 104 ovg % e W AW 150 ¥ 1,20 9 8 W 8, 9 @
TG B AW AT W & T ST ol &1 ¥ B SIS §

(A) 1.06 (B) 1.56

(C) 1.86 (D) 2.06

Due to Fraunhofer diffraction by a single slit of width (¢) the angular width of the
central maximum in the diffraction pattern is —

e (o) & THd @IHE T HEEHT RaaT TeY & hwy SR & BT IR B S -

o 2 .
& = ® -

o X o 2

© 5 ® 5
74 (2207) ] 17 [ PT.0.




62  If the plane polarized light whose plane of vibration is inclined at an angle 45° to the
optic axis is incident on a guarter wave plate, the emergent light will be -

(A) Linearly polarized (B) Elliptically polarized

(C) Plane polarized (D) Circularly polarized

ol wew gl v ReeE H9E a9 T oF § 459 % @ S &, O 9gule
wWe UT omafe giar ¥, o Frta wemer @ wefy vl -

(A) @l gim (B) cregea g

(©) wmw yfw ©) T gha

63 In Ruby Laser which process is used to set population inversion ?
(A) Electrical pumping (B) Chemical pumping
(C) Optical pumping @) Nuclear pumping
T WO A ST gerhw % W @ §r wiear vae ¥ o oy ¥ o7
(A) foEa dfe (B) ewfw i
(C) vl df (D) - dRm

64 Rotational energy levels of a diatomic molecule whose moment of inertia is ‘7" are
given by -
T SEw sy o el EOTTw o & Ui Se WX Y oR ¥ -

=2
i
A Ej=—rJ(U+]) ®) E;=2IR*(J+1)

21 r: g
o) Ej=—=JJ+1) DY E; =—
© 2 ) £, 7 T

where J is rotational quantum number.
el J guie e e ¥

65 The numerical aperture (NA) of an optical fiber is defined as —
THIE oY W SeueE aRe (NA) iR ¥ -

i
2 2 e
B) - ® 2
2
© = ©) i
n% ?’Z; "”?22

where » and ny are the refractive index of core and cladding respectively.

Sl 1y | My WEST GBI UE HIST B SUENHS § |

18 [ PT.0.
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66 What is the major organic product formed in the following reaction 7

e effewr @1 ooE wePe wog = g7

§ hvy

|

, % NS

{A) Br NN B) - é ~
T

© )\{ © K g
Br

67 How many fundamental modes of vibration sulphur dioxide molecule has 7
TehT TTRelTEEe o] ¥ feae UHE@ wEeyE (@WE) ' € 7
(A) 3 (B) 4
© 9 ) 38

68 Tor a reaction

N,(g) +3H, (g) — 2 NH,(g)

s} d
What is a correct relation between g[NH3] and *g{[Hz] ?

N,(g)+3H, (2) = 2 NH, (g) ofefsmr & fo -

‘gé NH:;] & ‘“g{[Hz] & T GE WY T
(4) %ENH?)]:*%?% H, | ®) f;[NHJ:——% g«{[ﬂz]
(©) éﬂmﬁ»%é H,] é[ﬁg]mg[ﬁz]
74 @ao7) | 19 [ PT.O.
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Ferric chloride is applied to stop bleeding because —

(A) Fe'? ions coagulate blood which is negatively charged sol.

(B} CI™ ions cause ceagulation of blood.

(C) FeCl, react with the constituents of blood.

(D) Blood absorbs FeCl,.

FeCl, wed wm @1 Tt & Sl g & s -

(A) Fet? Wwﬁﬁ%w%%@ﬁswmwm% %

(B) CI” oo+ & & &0 & @ed & Wil ¢ |

(Cy FeCl, e & ormmal @ foan &a & |

(D) @ FeCl, & srasifya & A1 § |

The standard free energy change AG° is related to equilibrium constant kp is —

A R el aiEd AGe qEr g Rudie k, ¥ qwe ¥ -

o \AC°
®) kpz(ﬁ)

_AG° _ ~AGO/RT
© k== @) k,=e20°%

(a) k,=—RTInAG®

The correct order of atomic radii in group 13 elements is —
freffee 3 @ 3w 13 % ol § sonfes Brous @ S| 59 98 § 7
{(A) B<Ga<AlI<Ti<In (B) B<Al<Ga<In<Tl

(C) B<Al<In<@Ga<Tl D) B<Ga<Al<In<Tl

20 [ PT.O.
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:

The following SN' reaction of tert - butyl chloride with iodide ion is as :

(CH,), C-Cl+T™ — (CH,), C-T+CI"
If concentration of iodide ion is doubled, the rate of forming t-butyl iodide will —
(A) double

(B) decrease

(C} remain the same

(D) None of the above

g SITRE dRIUES o dieEs oE & wrg SN atwRe Fr wer el ¥ -

\ s - / -
(CH;), C-Cl+T —(CH;), C-1+Cl

Ty EISIEE ST S WEEAT B GO BT RO WU O §. GUsd HEEES § ¥4 & a1
=l —

4 3Th

(B) we W

(C) == @ wWW

(D) Sugem 9 § @ T8l

Which of the following alkenes on ozonolysis gives CH3CH2CH@ and
CH,—-CO-CH,; ?

Prefies § ¥ ST Y st @ CH,CH,CHO @ CH,; —CO - CH;
e

(4) CHy=CH,~CH= C ~CH,
CHs

() CH,-CH,-CH=CH-CH, - CH,
(©) CH,-CH,-CH=CH-CH,

CH,

|
(@) CH,~CH= C -CH,

21 [ BT.O.




74 In the reaction

e
2 7 =P
L\n
P s -
3y
" ,
2 = PHsam P ¥~
S

N

75  Which of the following has bond order 2.5 ?

Frefefen & € Rroer dusw 2.5 % 7

(A 0,

© N,

76 The element which has the highest clectron affinity is —

(A) Oxygen
{C) Chilorine

ToEaH SRR SYW AT O ©
(A) ade=
(©) wwrt=

74 (2207) |

®) 0,

@) N,”

(B) Fluorine
(D) Sulphur

B) wirlw

(D) et

22

pesy

“d
e

78

79

The four quantum numbers for outer most electron of an element are given below —

1

n=2,1=0, m=0 and : :_‘",%?

the atom is
(A) Lithium (B) Beryllium

(C) Hydrogen (D) Boron

OF O & waT SeeeE @ Ol weew e treffee

1
n=21=0,m=09T9 s=+ j,fg, WEgE T T

(A) (B) Ffwm
(C) =wmgRE (D) 9=

What is the composition of Bauxite ?

YEETEE & TeT R BT ¥ 7

g

(A) ALO, ®) ALO,-H,0

() AlLO,-2H,0 Dy ALO,-3H,0

Which of the following is correct expression for critical temperature 7

Frafaien & ¥ wifte T & W o8 =ve sR-wr § 7

(A) TC = > bzm (B) TC =3b
Ra 852
C T = ﬁ rf =
© T 27 Rb ®) L 27 Rb?
80 At Mount Everest water boils at —
TG TG U o6 & F9UFH & —
(A) 100°C (B) 110°C
(C) 223°C (D) 76°C
74 (2207) | 23 F'ET.O.
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Which type of bonding is present in physical adsorption 7

Covalent

p—e

{A) Ionic B
(C) Vander Walls (D) H-Bond

iftre erfuyieer F Rew ve @ duF BAT ¥ 7

(A) st B) usEEiwE
(C) wwstEw (D) H—=y

Which of the following electrodes, potential is independent of pH of the solution ?
(A) Glass electrode (B) Calomel electrode
(C) Hydrogen electrode (D) Quinehydrone electrode
=1 9 o Tow seeis @1 v Ree @ pH et w8 Wi 7

(B) &uie FWas

(D) FerERsT TS

(A) TG gEES
(€) =g e

Bathochromic shift in UV spectrum is due to —

(A) Increase in intensity (B) Decrease in intensity

(C) Increase in wavelength (D) Decrease in wavelength

UV @y ¥ guifepyl [O®m- & &R § -

(A) <EaT @& T (B) ormr @ "e
(C) wtwed & <o (D) TR @ we
24 [ PTO.
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74 (220m) ]

The addition of HBr on 1, 3 - butadiene has the following energy profile diagram -
‘4’ represents —

1 / /\ \
1AEAN
0 §
g 1
£ 34
gj 4

Progress of Reaction —

(A) 1, 2 - addition product
(B) 1, 4 - addition product
(C) 1, 3 - addition product
(D) 2, 4 - addition product

%@%ﬁ%ﬁ@ﬁ%ﬁﬁﬁﬁﬁ@%@i,%@g@ﬁ@ﬁﬁr%&%ﬂ@ﬁ@@fﬁﬁﬁﬁww
¥ | fratafen emce § 4 % -

Potential Energy —

34_

Progress of Reaction —

Ay 1, 2 - s
(B) 1, 4-dfw sar
() 1, 3-9fFw s
D) 2, 4 -9 suE

25 [ PTO.
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A compound with molecular formula C3ﬁ6C12 gives an NMR spectrum having two
absorptions :

a triplet at $3.70 (area = 2) and a quintet at §2.20 (area = 1.

Identify the compound -

e At R sopgs CoHCL, ¥, NMR wees % &t ereaneer fre <@ &

s fgwe 83.70 (ohew = 2) X 991 % fEee §2.20 (char = 1) 9 |
T B gEEi -
(A) CH,-CH,-CHCl,

B) CH,-CH-CH,
1T

‘o a
Cl
l
(© CH,- ?- CH, (D) C%Ez—— CH, - c%iz
Ci Ci Cl

What is the order of decreasing vibrational frequency for C—CL C-Br, C-C, C -
OQand C-H?

C-CIL,C-Br, C-C,C-0 8T C-H % Ty o sghy (vibrational frequency) @&
TedT §I B M & 7

A4 C-H>C-C>C-0>C-Cl>C-Br

B) C-Cl>C-Br>C-C>C-H>C-0

C) C-0>C-H>C-Br>C-Cl>C-C

(D) C-Br>C-Cl>C-C>C-0>C-H

The resistance of 0.01 M solution of an electrolyte is 40 ohm. What is the molar
conductance of the solution in chm™! cm? mol~! 2 Cell constant is 0.4 cm L.

fpelr 0.01 M g ommen & foee & wiody 40 o9 © | 59 RREe @) 9 Sed
ohm™! cm? mol™! ¥ wr ¥ ? Jr Rexiw 04 om! ¥ )

(A) 10 (B) 102

(©) 103 (D) 104

Selection rule for J in the Raman spectroscopy is —

T W ¥ J % fag aro fem -

(4) AI=0 (B) AJ=0,%1
C) AJ=0,%2 D) AT=0,1
26 [ PTO.

&9

56

91

92

Which of the following cannot be used as an adsorbent in column adsorption
chromatography 7
(A) Magnesium oxide

(C) Activated alumina (D) Potassium Permanganate

wY el aumer § e ¥ ¥ eF-w e afteies @ Wil wge e e e
E I

(A) FRwEw eearss (B) Rufwa Sw

(C) ufehm tghm (D) uRhRry v
The Transition S; —> S, is called as -

{A) Intersystem crossing (B) Internal conversion
{C) Radiative {D) Forbidden

5, — 8, dewer weww § -

(A) oIy wE (B) o=i® ®U=iy
(C) fafel (D) aRia

Out of the following, which molecule is not aromatic ?

e & @ @ o F-TiRkes ¥ 7
S
&) “ )iz B) H\ j

© | | :

@) @

Identify the chiral molecule among the following —

(A) Isopropyl alcohol (B) 2 -pentanal

(C) 1-bromo, 3 -butene (D) Isobutyl alcohol
= o g e o @ ¥ 7

(A) ersEmiitE Year (B) 2 -I=mw

©) 1-%% 3-@m (D) eI e

93 Alizarin is a/an -
(A) Vat dye (B) Azo dye
(C) Sulphur dye (D) Mordant dye
R ¥ e -
(A) = T (B) ¥ W&
(C) wwBt & (D) ¥rge @™
74 (2207) | 27 [ BT.O
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97

Which of the following is an example of fats ?

{(A) Glyceryl tricleate (B} Vegetable ghee
(C) Coconut oil (D) Groundnut oil
Py A o Sm-wr gar (fat) & SEE § 7

(A) Paels FRelese (B) =ty

(©) faw i (D) st

Which of the following bases are present in RNA but not in DNA 7

{A) Uracil (B) Cytocing

(C) QGuanine (D) Thymine
Frfeien & & s—ar g @9) RNA & wrn omar § feg DNA & =8F 7
(A) quies (B) s

(C) Tenfm (D) urghm

The catalyst used in the manufacture of polyethene by Zeigler method is —

(A) Titanium tetrachloride and triphenyl aluminium

(B) Titanium tetrachloride and triethy! aluminium

(C) Titanium oxide

(D) Titanium isopropoxide

e [l & g0 Teedm @ W ¥ ST B g SeRE © -
(A) TEehEw Trewtss o TEbw g

(B) =mehrm tradgs ot waehe Aghfmw

(C) =wgehmm aifruge

(D) TRHOH AEEYNEaES

Reaction of a secondary alcohol with SOCl, gives product with —

(A) Inverted configuration (B) Retained configuration
(C) Reaction doesn't take place = (D) Both (A) and (B)
fadasw Usmeie g SOCL, & ¥ otfuiear & saE o 9ra o —

(A) vkt fa=re (B) viyafE o=

(C) T 7@ 8 D) (A) wd (B) o=

74 (2207) 1 22

88 In the following reaction —

I s L, na—
ST Hivimw o

, n
A——"24 5 HO- C—(CH, ),~C-OH
‘Al is -
A %— .
O

99 In the following reactions —

Freatalen afulsa o -
CH = CH - CH,0H
CH=CH-CHO — @/
Y s -
7 %— _
(A) LiAlH, (B8) H,/Pt
(C) Zn-Hg/HCI (D) NaBH,

180 Carboxylic acid do not give reaction of carbonyl group due to —

(A) Inductive effect (B) Absence of ~C = O group
(C) Resonance effect (D) Electromeric effect
BRSO HIEHEe a8 @ ofulear 78 37 SEE BRI § -
(A) 3Ty (B) —C = 0w @t ergarafa
(O gl g (D) WA wE
74 (2207) ] 29 { PT.O.

[ PT.O.




SPACE FOR ROUGH WORK / &= & & Rl @8 SPACE FOR ROUGH WORK / == o™ ¥ fod g

31 [ PT.0.

74 (2207) | 30 [ PT.O. . 74 (2207) |




